Question Details

SCalc8 3.7.060. [3354073]
If C(x) = 11000 + 600x — 3.2x2 + 0.004x3 is the cost function and p(x) = 3000 — 8x is the demand function, find the

production level that will maximize profit. (Hint: If the profit is maximized, then the marginal revenue equals the marginal
cost.)
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30 0.3168519 | 0.3501852
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b b "] 1000 | 0.3328335 | 0.3338335
FIGURE 8 Right endpoints produce upper sums because f(x) = x” is increasing.
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@ Definition The area A of the region § that lies under the graph of the contin-

uous function f is the limit of the sum of the areas of approximating rectangles:
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NOTE It can be shown that an equivalent definition of area is the following: A is the
unique number that is smaller than all the upper sums and bigger than all the lower sums.
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EXAMPLE 4 Suppose the odometer on our car is broken and we want to estimate the
distance driven over a 30-second time interval. We take speedometer readings every

five seconds and record them in the following table:

1y a3\ 3% yy 43 yg§

o 31 35 UL 4F 4r g
S5l O S%c S%c S Ssec

Time (s) 0 5 10 15 20 25 30

Velocity (ft/s) | 25 | 31 | 35 | 43 | 47 | 45 | 41
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